Answers to Questions on Page 534
1. Water at ground level absorbs energy, causing some of it to evaporate; this adds water vapor to the air. Air near the ground absorbs energy from its surroundings and rises when it becomes less dense than the surrounding air. The rising air carries water vapor with it to higher altitudes. There the air expands due to the lower pressure and absorbs energy released by the water vapor that is cooling and condensing into a cloud.

2. (A) Orographic lifting (because of the mountains)

    (B) Convective (because the air at the equator is warmed by the Sun’s energy)

    (D) Frontal (air masses from the west and the south meet, forming a front)

    (E) Frontal (air masses from the west meet those traveling up the east coast, forming a front)

3. (A) 3000m

    (B) 6000m

    (C) below 2000m

    (D) from low to 7000m

4. (A) Altocumulus clouds are puffy grey or white, found around 3000m; they are interspersed with patches of clear sky.

    (B) Cirrostratus clouds are thin and veil-like and are at about 6000m. They can produce halos around the Sun or Moon.

   (C) Nimbostratus are dark rain clouds below 2000m.

   (D) Stratus clouds are uniform sheet clouds at about 2000m; they often bring drizzle.
  

